Nombres Décimaux (F)

Trouvez chaque somme.

8428,6 + 58482 = 457,68 +1375,4 =
0,32593 + 28728 = 8896,4 + 903,29 =
93,432 +1,6199 = 0278,7 +238,92 =
9018 + 7,5923 = 0,92606 + 50550 =
2,0349 + 260,15 = 33774 +4,2096 =
512,56 + 611,11 = 5487,3 + 976,62 =
33524 + 8631,9 = 750,39 + 920,95 =
0,98956 + 0,80688 = 0,71913 +4015,4 =
84,38 + 643,02 = 0,51827 + 305,52 =
68,021 + 8806,3 = 187,42 + 5,8927 =
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Nombres Décimaux (F) Solutions

Trouvez chaque somme.

8428,6 + 58482 = 66910,6 457,68 + 1375,4 =1833,08
0,32593 + 28728 = 28728,32593 8896,4 + 903,29 = 9799,69
93,432 +1,6199 =95,0519 9278,7+ 238,92 =9517,62

9018 + 7,5923 = 9025,5923 0,92606 + 50550 = 50550,92606
2,0349 + 260,15 = 262,1849 33774 +4,2096 = 33778,2096
512,56 + 611,11 =1123,67 5487,3 + 976,62 = 6463,92
33524 +8631,9 =42155.9 750,39 + 920,95 = 1671,34
0,98956 + 0,80688 = 1,79644 0,71913 +4015,4 =4016,11913
84,38 + 643,02 =727,4 0,51827 + 305,52 = 306,03827
68,021 + 8806,3 = 8874,321 187,42 + 5,8927 = 193,3127
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